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()
No. * B & T L At iy No. * w & B
1 |m 1.31 | 1.31] 0.89 i |#km 1.54
2 [oxm 120 1.20] 1.54 2 [k 1.25
2 [xmmsn 1.29 | 1.29] 1.23 3 [xeemme 1.24
2 [m= 1.20 1.20] o0.86 4 [meps 1.23
5 [sma 121 121 1.1 5 [t 1.1
HEER SEREECEH (£84%)
()
ol = 1 = % u & ﬁigﬁfiﬁ EERS M| % & & E TP 5o
1 |eEmen  |[zEn 1.53 | 1.53| 0.80 i [eem B - BE 1.54
2 [oxmm HEE 1.31 | 1.31] 0.89 2 [k ESH 1.36
3 [om LB - BHH 1.29 | 1.29 ] 1.54 3 [miRmat EH 1.33
3 [msn *EH 1.29 | 1.29] 1.23 1 [xeemoe EH - BHE 1.24
3 [m= EER - BHE 1.29 | 1.29] 0.86 5 [pkmEpsR =EH 1.23
wEBEE STHREEOER (284
()
No 2 K& Eizﬁfi@% = "ewiE No. * B & SR
1 |pmEhR 1.36 | 1.31 | 1.28 1 [umT 1.34
2 [oxmms 1.27] 1.27] 0.0 2 [xmmsn 1.28
3 w5 1.28 | 1.26 | 1.09 3 [om 1.20
4 [om 113 113 1.20 s [mat 1.18
5 [xmTx .11 ] 1.13] 1.34 5 k@ 1.14
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()
ol = & % v 5 & ﬁﬁgﬁ‘%ﬂiﬁm EERY N | % # EA TP -
1 BT R 1.40 | 1.37 | 1.46 1 lmT REF 1.46
2 [mTx ESTALE—F 1.46 | 1.31] 1.43 2 [mzx ESTALE—F 1.43
2 [msn =B 1.36 | 1.31] 1.28 3 [mzx e 1.39
) [omme R 1.27] 1.21] o.91 4 [mmsn =EH 1.28
5 |5 =B 1.28 | 1.26| 1.00 5 [mATE e 1.26




